H & 0l & AHS B Ml A

S ENCE
I Agelsl 28 A
tel: 3gs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
23R = 2,727,283 2,679,635 47,648
Agels 24 1 2,632,904 2,588,574 44,330
cggs A 2,632,904 2,588,574 44,330
Fgs 2¢ Nd 2,144,576 2,085,326 59,250
101 21AH| 77,313 76,386 927
04 JIZtN2Z2XNSE+ 77,313 76,386 927
OSIIAL 12 25,061
ollZs 80,3203 x1H*222 « 12 21,205
s e 80,3203 x 14 x 122 3,8%
O=ssdiada gs2x 27,191
olle=s 80,3203 x 1 »222 « 128 21,205
oRERLrE 80,3203 x1H 42 12E 3,85
004 H| 2,130
Ogsd HREX 25,061
olles 80,3202 x1H+22Ux 12 21,205
or=Rerd 80,3202« 1H*42 x 12 3,8%
201 =3 227,438 230,959 23,521
01 At22telt] 168,778 127,39 41,379
Otl2+=g 16,488
OXXIZ Y &2t =g 50,000 x26H 1,250
OXtgd & FH4 20 7
10,0003 x55+ 123 600
O=EE ST NA 1,000 «6000H 600
O&ZAOIA L ArF HIZ
5,500 *5000H 2,750
023 =8 & HRE HH 5,000
OsAEA 7Y (M2, 2dsd) 2,700
OZgHEl ¥ &g FU(a=ad
NEEENCEE) 7,200
O=ADIEY ¥ S8 Pe(H2AA) 1,350
Oslola 2 HYUABA AREE 22 1,000
OoIsIEAl SR 88 2
350,000& * 128 4,200
Oold M=z =M=
450,000 x25H 11,250
Ool2dsdg NHEfRa A+
70,0008 x7H 23] 980
02l =claM AH=2RBs FeE
70,0008 7 H =23 980
O2d 82 =A£8 AR &4 ¢
70,0002 7 H*43] 1,960
O2l3 g - HENZ =&
300,000 «2H = 12& 7,200
Ol gY - BELNR TS =g
70,0002 x2H *43] 560




2A:

OIGIANR=

A Xgols 29 XA
el oZggs N (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SENEEEEEEEEEES
100,000 x5 H 63 3,000
ONME S HTAA 49
200,000 *5F *23 2,000
O4asHIE K& 5,000
ONZAZINL DI2SIE DY)
800,000 x15H*13] 12,000
OoHesAd Az /as 2AE
700,000 *13] 700
OoHesNd F2As /a5 2o
MNEZ 500,000 *13] 500
Osgels BS2SIH HE
20,0002 805 1,600
Oaeds E=D| JU=z
40,0003 #4CH*12& 1,920
O=JIA 28= 2L 360,000 *4H 1,440
OQIHY MSH =0 s9=
100,000& *30Al2¢ 3,000
Ogsa KXl 3,000
OolE| &e HELR Qe =28 F 7,000
OJIEt At22ld| 2,400
OZas|oE S/W A2 1,550
OZHI0IX F&a3oE 2e|
4,300,000 x4= | 17,200
O3gl|ol2 Z2|AIAE SXl2el
550,000& 4= 2| 2,200
023 USAIAE FX&2|
5,500,000& *4= 2| 22,000
OoBYLET RBATIE
1,350,000& * 10H » 12& 16,200
02 33244l 38,160 82,560 A44,400
O3EXE SALI(2EE)
1,000,000& = 1CH* 123 12,000
O3EXE sl 400,000 »4CH+ 123 19,200
O3ExX 8= 2,100
O] 22| 100,000 *20CH *1/2 1,000
023 ot&al 2/ 4yl B+ 1,700
O23IARZ &2 22l
180,000& x 12& 2,160
03 At2ZH] 20,500 21,000 A500
OAlZ23l oZEogY ANZLF M
10,000,000& %13 10,000
OHX= AlI223 oI&#E 23| J=HhI
6,000,000& *13] 6,000
03383 s 29 4,500,000& *13l 4,500
202 0idl 137,420 122,820 14,600
01 =WHO4L| 83,520 73,920 9,600




2A:

OIGIANR=

= K|gols] 29 N
ol d3Es A3 (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O2ggs g4 ol
140,0002 x40 « 122 67,200
O2des =8 S RF2& 0y 12,480
O2gesXE dzZst ATE 0l
240,000 16 3,840
03 =220 53,900 48,900 5,000
Odct=E Alz2zl oggols Ha =3
4,000,002 1% 4,000
0ol 2QIEY 43
4,000,000 10212 40,000
OXHEBAH Al HZ2 S =3 9,900
203 SR =L 15,190 15,190
03 A=A R FAIH| 15,190 15,190
CELNEER-EES] 8,500
Ool¥ES N 1,200
OFSIA ABEZ(53)
1,350, 0002 +3& 4,050
OHSAH AHEX(62)
720,000 x2H 1,440
205 2|2/H| 1,607,355 1,616,191 A8,836
01 |8 &sHl 330,000 330,000 0
(ORIFSE- =t 900,000 *25F <122 270,000
O2xgsH| 200,000 x25E « 122 60,000
02 88+ 673,458 662,205 11,253
OCEd=+¢ 2,244,800 «25H~ 123 673,458
03 22 =LHAOHI 56,800 64,750 AT7,950
O2ggs df=d ol
25,0003 x25H «40! 25,000
O2d o4 S 0t
318,000& x25H*43] 31,800
04 2JA=2/04Hl 122,500 97,500 25,000
Ogd =2 &% 122,500
o2& 4,000,000 »25H 100,000
OXHIHE A ZAl H2 S 22,500
05 o|d3=g38Sdl 134,627 151,086 N16,459
O d=g =52l 134,627
06 23| 2R =4H] 102,800 102,800 0
(OXIFS, 33,000,000&*1H 33,000
OR% 16,500,000& 1 16,500
oA 12,500,000 *4H 50,000
Ol Z A SER2E 3,300,000& %1 3,300
07 Q2 H2NLH(SSRIE, IHLR) 7,250 7,250 0
OV (XA, SSRIEH)
290,000& 253 7,250




2A:

OIGIANR=

= K|gols] 29 N
el oZggs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
08 2l AZIRLHI(R12+21E) 20,000 20,000 0
O U= 800,000& x25H 20,000
09 A Z Iyl 100,000 125,000 25,000
OXNZ2e Y AL1ES
4,000,000& 254 100,000
10 AEEANMRES 10,000 7,000 3,000
OX= AZ93l oEFAS RS2
10,000,000 * 12l 10,000
MEEELIERIE 21,420 21,600 A180
CELIENIER=
105,000 x 17 * 12043 21,420
12 =AU RES 28,500 27,000 1,500
ool 2eIRiY 23
95,0002 x25H 122 28,500
301 22N = 4,500 3,500 1,000
08 212+01=2|044| 4,000 3,000 1,000
O2d =2A=d S +=&(JI2HI) 4,000
14 IIEt2 83 500 500 0
OHAMAN B0 S BAPA3
50,0002 10 500
] 3,000 3,000
01 Z&3 3,000 3,000
O=H ARUAMN 42 2424 T
1,000,000 *3IH = Al 3,000
401 Al HIZL S 0HYI 65,000 65,000
01 Al&HI 65,000 65,000
ONEAL OIH0 2 SABIUSAIAL Z
(UFSl:] 65,000,000& » 14 65,000
405 KHoHF S| 7,360 17,280 29,920
01 ML ESFSHI 7,360 17,280 29,920
OFXI=ADI(=E]) 7Y
4,000,000 1CH 4,000
Ool2 o M2 Y28pc 7Yl
1,120,000 «30H 3,360
Qdas g2 X¥ 488,328 503,248 214,920
201 er23| 9,788 495,328 398,540
01 At2teltl 9%,788 495,328 398,540
OAZ0IUN s2g4dE NA € 82 30,000
OX2ATY OAH T2 AEE 5,000
O2das 82 A+ MA 11,000
ORMIOTH 22 2| HLHZAXY 3,000
ORI9tH 23| =B EE SZ4& HZ 20,000
O0lglol - #a4d ME 23 At 1,400
OO0l - E4d HE 28 JIE8 7Y 3,600




SN oI5l AR
I Agelsl 28 A
tel: 3gs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oods: 2d Iz 2 25 7¢ 1,800
O2lz =22 &l 1,000
OJthlict 2258 & RX24H| 2,000
OAtzIQlst & AT &
300,000 * 122 3,600
OZHIOIAl 2l 13,188
0 HIOIAl FAIE2==4] 12,330
oS HIOIAI 22! &0l MEIA & 792
oA &tAI2IZ] Bt2 QIEH FA HE
66,0002 %12 66
02y g2 Nz &d Al
8,000 x3& »50! 1,200
202 04dl 1,540 1,920 380
01 2L AL 1,540 1,920 A380
o2y g2 s 1,540
301 EtE NS 1,000 1,000
14 JEt2a s 1,000 1,000
ONS OI¢E 2& + 1,000
308 XXM SO0IH 385,000 385,000
18 SIS0t 4 A A A 385,000 385,000
OUiH 2= 28 &2 285,000
Oogdgs 8= dHe 50,000
OXgYss 88 gdegs 82 50,000
405 KHaHE SH 4,000 5,000 21,000
02 =A bl 4,000 5,000 21,000
O2d N4 =A 2
20,0003 2002 4,000
HY 2SI ZHI(ABARS) 94,379 91,061 3,318
el 2E| 44,819 41,306 3,513
el E2d| 44,819 41,306 3,513
101 21AH| 44,819 41,306 3,513
02 JIEtA = 44,819 41,306 3,513
OAIRMEERIZIIM (22 2&HIM) Q24| 44,819
o2 3,029,730« 1&~12& 36,357
otEg 150,000 x 12 * 12 1,800
oY A ZAH| 140,0002x 1+ 122 1,680
oXg 2| 157,500& x 12+ 12&8 1,890
oSFNEE 145,4303x 1~ 123 1,746
o2& SH| 50,0002 x1& * 12 600
oA ItE ad| 746
Jl23Hl 49,560 49,755 A195
JI=23Hl 49,560 49,755 A195
201 fer= 3| 33,270 34,545 A1,275




SN o5 AR
M HAPAZH|(AZIARZ)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 31,270 31,745 A4T75
O=AEA P (AR 4,000
O=ADI, gl Ed € =8 #¢Y 9,000
OJIEL At 2teld] 18,270
2 S22l 2,000 2,800 A800
OZ33x2= 2 HMAl 2,000
202 04l 240 240
01 2LHoIH 240 240
OFEZZ WSO
20,0002 x 18 x 122 240
203 HR=4AY] 16,050 14,970 1,080
01 J 2= HRFA| 2,970 2,970 0
O2AANR=E 2,970
02 HRAJAHARFAI| 4,080 3,600 480
OFAIAZ(51Y) 80,0002 +51H 4,080
M EA2ER=AH 9,000 8,400 600
ORNEgE =AY 9,000
022/ AHR= 400,000 12& 4,800
=AY 350,000 * 122 4,200




